101. Consider the following two statements consisting of Assertion (A) and Reason (R) and select

your answer using the codes given below :

Assertion (A) Rise of militant movements in Indian National movement revealed to
the British Government, the extent to which the Indians were

hun}iliéted and dissatisfied.

Reason (R) : Indian youth were involved in large numbers in militant movements

and left their foot prints as Heros.
A Both (A) and (R) are true and ‘(R) is correct explanation to (A)
(B) Both (A) and (R) are false
(C) (A and (R) are individually true but (R) is not the correct explanation to (A)

(D) (A) is false and (R) is true

Gerraimid @mersdunsaiie QarBastul Herer s (&) sTrad (&) ydumalsamers sMmHbHld

Qs () EGup Asr@ssiulHerer 0aTEUddBhg) e msar elamLmwus Asile) Ces.

gamml (&) : Qpdw d@smas Cumym L sdd, Selly Casluaunilseten arpssl, pmdGeow
< 8§ Qpduismer apg faeing Speowliu@sd polsms @ass
QLB HHES) TS 2 TTSALG.

sryento (&1) @rélu  @eareiadr ofls aredle Sy Csfluarndsdr Quéssslod

Qenemha), BrLsTsaTTS Shisang Hlevarajsman el (H& Cesnpararan.
A) . (s) womb (sr) @ran®Cuo sflurameal. (sm) - (sa) eflen sfilwirear aflendsiom@in
(B) (&) pmid (&7) @rar(HGw seupreaene
(C) (&) pmid (s7) saflFsaiuns sfiunaame pearme (sr) — (s) eflen sflwimar eflerésiohe
D) () goum, () &
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102. Identify the leader who uttered the following statement :

_ “I am not anti-English, I am not anti-British, I am not anti-any government, but I am

anti-untruth, anti-humbug and anti-injustice.... so long as the government spells injustice, it

may regard me as its enemy, implacable enemy....".
(A) Gopala Krishna Gokhale (B) Bala Gangadhara Tilak
f M.K. Gandhi (D) Jawaharlal Nehru

@ésmpenp Gzfeilss Cadlug genaaur wmm?

‘... pran o mdes5sE alratad 2w, Brem %ré}aﬁ@ajufras@és@mﬁgnmeuﬁh SV, BIET 6THS
SITEMRSSEDGD eTdImareuen e, e B 2 aramnsEGl Unburaubing adyrareer;
Guorsin s adyrarausr; <ibdlsE adlyraae 2rs ageumr wBfurs pLbg QsradnCsr

S|QUTEET CTENENEST LIEHEQUGTTS S(HSIQUT, FLMSIATUUMSS (PGS LIS S(ihSleu.....”
(A)  Carume (meigent CamaGa (B) uresnstsy Hasi

(C) Cuorsagrev srbshs arbd D) mauaniwrd Cum

103. Which national leader uttered the following statement?

“I am an Indian Tom Tom waking up all the sleepers so that they wake and work for their

motherland”.
(A) B.G. Thilak (B) Gopala Krishna Gokhale
ﬁ Annie Beasant (D) Jawaharlal Nehru

»

_ Hemai(mid &mnenp Diflelss Caflus smeveu wmi?

“BeT. G(m @EQLU@T sl e Sidg e pr@uaisma olifis@sy Qalg, STUBTLHEG
venflwmdmiorm effiviyemieuafuGuern”.
(A)  uresmstsr Heosi B) Camune Hmegenr CarsCa

©) oemaQusaan D)  gauanierd Cum
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104. Consider the following pairs.

IL Swami Vivekananda - _Par]i.ament of Religious Chicago 1893
I1. M.S. Subbulakshmi — Patronized art and architecture

III.  Mother Teresa —  Central Hindu School, Banaras

IV. Raja Ravivarma - Classical Ipaintings

Which of the pair given above is/are correct?
(A) Tonly [T only
(C) 111 only (D) IV only

Géimau(mLd GameniaeneT H(HHEw daTers.

I. seurmd eflCeusrarbem — 1893 oyib e (® SsarCarefen 0wl LIMTTEHLOGTDLD
II. GTLD.GTEN. GHUILjeL&LAl - SHENE DN S gL H&EEHE

[II. jeener Hgram ' - wg&Hu @hgiLeret, Liermren

IV.  gmgr refleurion —  upewwrar @eflwkiser

Cuop@olndl L @amensate erg) o1l ?
(A) Twbli@Ebd B) II wl@Ew
(C) I wi@w (D) IVwl@o

105. Which is not the work of Ottakkuttar?

(A) Senkuntarmalai (B) Saraswathi Anthathi
y Yapparun Kalam (D) Arumbai Tollayiram

ThG BI PLLEGESFHT er(pSlgl 2i6e?

(A)  CemgpsT e ' (B) sreveud) SimHsTE

(C)  wmiumriseLD D) simaus gmerermuliyd

106. Who was the founder of the Kisan Mazdoor Praja Party?
(A) Achariya Menon (B) J.B. Kriplani Menon
y Achariya J.B. Kriplani - (D) Jai Prakash Narayanan

Slevmerr wevgnt Arger sifamws Campmiedsseui wrm?
(A)  opsemium Goeren (B) J.B. Smuarafl Gioeren
(©) ysemiwurd.B. fmuenedt D) Qguindgsmesy HrymuewTeT
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107. Who became the Chief Minister of Madras Presidency in 1923 after Justice party won the

elections?
(A) Ramarayeningar (B) K.V. Reddy
(C) T.N. Sivagnanam Pillai (D) A.V. Patro

1923 <ypid el peLLCuhn Qearenan wrsreanr Csiseller FHa’ 8 QaupBlQuby Gpg wmi
Qaenenen wrsTamsdler (psed wbdlilwire QurmuCuphpri?

ﬁ FTLO T et i T (B) Gs.efl. Qulyg
(©C)  ig.erem Sleugymend QeTanar D) &6 ursGyr

108. Who made the statement : ‘Worship of God through the services of the poor'?
Mahatma Gandhi (B) Mother Therasa
f Swami Vivekananda (D) Ramakrishna Paramahamsa

“gampaEnsE dananBser Celieugl sLe e clamhIEaISNE, SN eTarm) saflweuT wirr?
(A)  wsrswrETHS (B) enener Qspen
(©)  seumd elCeausmenbsm : (D)  grodmeserr LFwamibaT

109. Point out the wrong statement in the following :

Statement : _
1§ The place which experiences the seismic event first is called epicentre.
II.  Tornadoes are “S” shaped storms.

III.  Harmattan wind is blowing in the Eastern part of Sahara desert.
IV.  The word Igneous has been derived from a Latin word.
@) -1l B) IV

f II ‘ | D) 1

Spsa@ HHEgSMO FapTams & iy & sramlésa|id.

SH(HSGISET : . - :

L @psenpgedlanr Lelil ifliay ghudb @Lsms el eidlids awuwib eren HimpsslLGEng).
L GumranCLm yue “S” auigeussi e @) msE .

L. enmisl e snpm sanrrrellar Spéeh LGSl eSadamns.

IV.  @éeaflwen erem euniiengwimearng Qesder Qumdudledmbs QuDLILL L g,

(A) I 655 RS

© 1 D) 1
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110. Match the following pollutants.

(a) Gaseous pollutant _ 1. Anthrax
(b) Metal pollutant 2 Chjorine
(¢) Deposited matter pollutant 3. Cadmium
(d) Bio pollutant 4. Tar

(a) (b) (c) (d)

o e 3 4 1

B 1 2 3 4
(C) 4 3 2 i

D) 3 1 2 4

EpsaTanb rsUBSEamer QUIT(HSSIS.

(a) &rpm wrKURES ' 1. yhayréen
(b) 2 Cwrs wralBSS 2. @Germflen
(© ugwenaussiULL wrEUEHSS 3. _aaﬁLLSUJLb
(d) 28 wrELESS 4. i
(a) (b) (9] (d)
A 2 3 4 1
B) 1 2 3 4
(C) 4 3 2 1
D) 3 1 2 4
O ; 31 GTBA14
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111.  Which of the following is correctly: matched?

L.
11.
I11.
IV.
A
(B)
©

(D)

Meteors : _ —  Shooting star

Cométs ' —  Revolve round the earth
Halley’s Comet —  Appear once in 100 years
Milky Way —  Hundreds of stars

I

IT

I1I

v

Spsaareunmier a8 sflursl QuressLuL Herarg?

L.
IL.

III.

(A)
(B)
(©)

(D)

GTBA1l4

erflanaer - afl plesfpb

euUmed HLESS D - yfew sH eméps

Canedlev aured BLFSS LD - 100 as580® mapan Caremmid
Lireeulfl LaRTL_euib —  EIDDéseTasTa HlFSSImhisar

I

II

III

v
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112. Match the following List I with List IT with regards to reservoir. Select correct answer using
the codes given below the list :

List 1 Liast I1
(a) Human being 1. Cholera
(b) Livestock 2.  Ring worm
(¢) Rodents 3. Plague
(d) Dogs and Cat 4. Anthrax
(a) (b) (c) (d)
A 1 2 3 4
B)_ 3 4 2 1
v 1 4 3 2
D) 2 3 1 4

Smisatien QUi sms Qarean® eflens I-o e euflens 11—sp Glurr@ggj& aflanss@EnaEg &Gy
2_erer AgmELbalmhHg sflwmer ellentanw Ggifley Gaws.

alfleng 1 aufleng 11
(a) weflger 1. smegr
(b) sr@BmLGET 2. au@erw LW
() Qardluueal 3 19Cers
(d) i wpmibd yever 4.  syTéen
(a) (b) (© (d)

A 1 2 3 4
@) 3 4 2 1
<€ 1 4 3 2
D) 2 3 1 4 -

113. Energy flow in an eco system is'

A Unidirectional

(B)  Multidirectional
(C) Bidirectional
(D) No direction
Gpflene war s GeueliliL@ib #68) gL L orang)
A) gCrilms Cprasd
B) uedas Corad
©C) @mHeas Crradl
D) Senswmpp

O 33 | GTBA14
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114. Which of the following statement is correct?

f)
II1.
I1I1.

IV.

L

(B)

(€)
(D)

When blood glucose level decreases, the hormone glucagon signals the liver to
produce and release more glucose and to stop consuming it for its own needs.

When blood glucose level decreases, the hormone glucagon signals the liver to

produce and release more glucose and to increase consuming it for its own needs.

When blood glucose level is high, insulin signals liver to synthesize and storage of
glyvcogen and triacyl glycerol.

When blood glucose level is high, insulin signals liver to stop the synthesis and
storage of glycogen and triacyl glycerol.

I and III
I and IV
IT and IIT

II and IV

Spaumd Aariiseafle erg sflwmang ?

L.

e

I11.

(A4)
(B)
©)
(D)

GTBA14

Qrss GEREGstan  atey  GopwbGurg, GeErssTar @usEHT, oids eerelld
GEnsCaraman swrflsg elBellssnh Ly sdayamas grarhdleama. Cogib gag Camadsns
GEnsGsranss LweTuHSFeumsUD $HEH g,

Qrss GEEEtsmav  Satey  GopwybCurg, GErsstar QuisEET, Hs et
GEpsGamamen sunigs elBelsEn Ly sddTmag granddamg. Coaib <ids <amedd
GEn&EGsmans sar Coameaussnsall Lwauhsgidlemmg.

Brss GEneECane setey SiflaflaEn Curg Benaaler e oereild HaarCaramer wHpid

enjsimad Saflggramas sunilss CsllsEoug soadrmes grarhdamg.

Brss GEnsGamey siatey siflaflsgn Curg @ersaler, damarCarQmen LHMID 4y Bjamad
flaflerre 2 pugH wHpib Cadlleamu Amsabuy sodTmas SR Sams.

I wpmb ITT
I opgn IV
IT woms IIT

I wppis IV
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115. In the Union budget 2013-14, Rs. 1,000 crores has been allocated for funding women
empowerment and safety. The name of the fund is called -

(A) Abhaya fund
W  Nirbhaya fund

(C)  Soubagya fund

(D) Sumangali fund

2013-14 wsdw @iye aurey Qewey samédled @. 1,000 Camg. Hfl Auemsar SIS ESTIDWLDIEEHD HMHID
urgism19HE @asslulGars). Sibs Hiflular duwr

(A)  ouwr HE

B) Aiuwr B

(©) @serursdur B

(D)  &wmsed HS

116. Privatisation is supported for the following reasons, point out which of the following
statement is/statements are correct.

1. To improve efficiency.
II. To reduce government interference.
III.  To increase freedom and speed of decision making.
IV. To disown the responsibility of the government.
V. To promote private sector culture by introducing competition.
(A) I, II and V are correct
W I, II, III and V are correct
(C) I,III IV and V are correct
(D) I, IIl and IV are correct

seflummowwLrE@ss Gilgs Spsa. shnisafld sflurenenal ereneu?

L. pavioufiener 2iFsMés.

1. sirflar gamausi iy mer Gapss.

II.  sgpdromsad, edampgib (e a@lufmar siflsiss.

IV. @& sa QUIDULS®ET 8 S(Lpe.

V. Cum_uemen SiMpain@® s, BT SIEDEE ML LIGHTLIS@ET QUETTEE.
@A) 1 I wpmbd Velureema | -
(B) L II I wpgw V sflureneney

(C) L I IV wpgw V eflwrerene

(D) L III wpgid IV sflwunerensu
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117.  In 2007, the percapita consumption of energy in India was Kilogram of oil

equivalent.
(A) 529 (B) 592
© 295 ' (D) 925
2007 =ib e, @pureier saflpur aflssdl maielar serea; — SlCandlymb
TeTenenT LigledL (N& (S &iolb.
529 B) 592
© 295 D) 92

118. The oxidation number of Mn in KsMnOj is
(A) +2 (B) +4

y +6 | | M) o

K2MnO4 -6 Mn-cim <24,685Gamdm ereir
A +2 B) +4
€ +6 _ D) o

119. Which of the following oxides of nitrogen is coloured?
(A) N,O

(B) N0,
(©) NO s y NO,

SDE@TL bl FmeT 2y sasDHsailn &gl BlDapenL_w1g)?
4) N0 : B) N0,
(C) NO (D) NO,

120. Colemanite is an important mineral of
)  Boron (B) Aluminium
(C) Gallium (D) Indium

Gendwenart. Wenaimid g,a-r'r 2 Canasslen wadlwiorar saflwwomEib
A)  Gumgmen B) <@faflun
(C) Caallwd D) @emguwid

GTBA14 36 O



121.

Consider the following pairs :
I X rays — Rutherford
IL. Atomic Nucleus — Roentgen

III. Artificial radioactivity — Curie and Juliot

Which of the pair given above is/are correct?
(A) Ionly
(B) II and III only

(C) IandIlonly

Jf 111 only

Qémeumib @emeamaaner &(hHdla Damars.

e X sdliiger — mpsrGuT®

I ogmidem — renTL_gen

IIl. Qswpers sdflwssd — Sl opmib Cgradlun’

GuheMUar L @amarsafld argl/ e &l
A Iwlipod

(B)  II wmmud IIT 0" Gib

(€C) I wpmwII vl @b

D) I wi@od

37
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122. Consider the following statements and select the correct answer.

L
IL.
I1L.

v
(©
D)

The path of a projectile is a parabola.

The acceleration due to gravity at the centre of the earth is zero.
The gravitational constant does not have unit and dimensions.
Both I and II are correct but III is false

Both I and III are correct but I is false

L IE, IIT all are correct

Both I1 and III are correct but I is false

&psamL smppsoer shaHld Aaram® flwnar elen_aws CoibEsH :

I.
IL.
I11.
4)
(B)
(C)
(D)

erfl@LIm(meT endlat LITens LIFeUanaTe <i@L.

yeluller epwowisgler yalimmiiy apRsasHlen Sl ymeflub =y@b.
e wrhledlde@ 2@ whmib uflwramiser fenLwirs).

I b IT silwrenenau epenmed 111 geum

I opgie I sflwraraneu <pemme I seugy

I, IT, III %aﬁlu_: eI &fliLTenenal

IT ipmuibd I sflwrareneu = amea I geoums

123. What is the relation between the voltage ‘V’ across the ends of a resistor ‘R’ and the current
‘I which flows through it?

(4)

2 '
vt B) I-VR
I=% ©) V-=I’R

R agb Weagor aufCu Qsowawd WaCamiib I’ @b <sar  Ensts imobserer

Bleranpssssndlen_ulenar (V) Qi eremer?

(A)

©)

' GTBA14

12
V:E B) I=VR

Tl M) V=I°R
R

38 O



124. Which of the following vitamins are water—soluble?
(A) Thiamine, Riboflavin, Vitamin—D and Vitamjn—E
(B)  Niacin, Vitamin—Buz, Vitamin—K and Vitamin-D
W Thiamine, Riboflavin, Niacin and Vitamin—Biz

(D) Vitamin-C, Vitamin-E, Vitamin—-K and Folic Acid

SipssarL Qgmisefld @Sﬂ'f@éiié}sl_'lut_@@m. wall Liblarsalld, ahs GsTiT sEramie — s@yus

Falg LIGHGU?

(A) eswibler, ayCumerreden, enaul L Wler—D HDID anaut_Lbem—E
(B) enpwrdlen, epaul_ L 0ar—Bi2, eneul_ L flen—K whHmib el L ibler—D
(C) eswiber, enyGumderrailer, BTSN LHILD amaul_ L 18le—Bi2

D) e Lbla—C, el L 0a-E, encut_ L 1flen—K wHmid S GLTallE jiflen

195. World Meteorological Organisation head quarters is located at

M Geneva

(B) Taiwan
(C) Pentagon

(D) Manila

o wflan s LAaIIL @DWSHET SDUMDWISD 2 66T JO BT}

A)  Qgafleur
(B) eseurar
(C) QuenLsen
D) wellon
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126. The expansion of e-PPS is
ﬁ Electronic Project Proposal System
(B)  Electronic Population Prediction System
(C)  Electronic Polymer Purchasing System
(D)  Electronic Petrol Purchasing System

e-PPS —an ellfleunssid

(A)  WBlanengm HL apenGomflsd sieoriy

B)  Senengy wéseT Qprans QU(THEUGIENTHBHED Si@LOLIL]
(C) Wleengmy Liredlioi Qararedenen <2|EMLDLILY

D)  darengy Qui’ Crmey Qamrarefene DMLY

127.  The first clear detection of water vapour in asteroid belt was reported by
(A)  Indian Space Research Organisation (B) NASA
(C)  Russian Space Agency W European Space Agency

eoaGsrer ugHuld Blldr el @miLems LhHHu Cgafleumen @pigena Ceuaflud L g

(A) @'IBQC;]U_IG&!T ailer@euefl gy iiey Himieued - (B) pren
(©)  pesw elarQeuaf Blmeuenid D) &Crmuur efer@euet Hlnieuemnb

128. The Vice President of India is elected by
I The members of Lok Sabha
I1. The members of Rajya Sabha

Out of these

(A)  Neither I nor IT (B) Ionly

(C) IIonly y Both I and 11
@ipdwurellan gienawt Gl Lnss samaaieny CsipQs[H s

L. wseTee & mLifaniser

II. wrilokisarama 2 mnfenisar

Boupgyer

A) I seeg Il-b @eena B) IwlEwb

(© IHwi@b (D) Iwomw I Qrar@Eid

GTBA14 40 O



129. Arrange in chronological order :
Iz Bhairon Singh Shekkawat
I1. K.R. Narayanan
III. Mohammed i{amid Ansari
IV.  Krishna Kant
(A) I IV,IandII (B) IIL IV, Iand III
(C) LIIL Il and IV (D) IV,IL IIandI

&rev eufflengliLiig eT(pgIs :

L auGyrer Si Gagsreus

II. K.R. pryrwenresn

III.  apswg anibs sersml

IV, dpesensiss

@) LIV, I wpmid 1T 1LV, 1 opge T
(© LI IT whmib IV (D) IV, II, II whgib I

130. The world forestry day is observed on ,
(A) 8% March (B) 15*h March
W 214March (D) 22% March

£_60& QUGN [HITET 460 ST &L (Heug
(A) i -8 B) wmg -15
(C) omréE —21 (D) iomrE - 22

131. Ladies singles final in Wimbledon — 2013 had won by

w® M. Bartoli (B) S. Lisicki
(C) S.Peng (D) K. Nara

2013 & penL@Qupp eddiGer e waaflissrar ghepwi Welon Qap Quboeu wrr?
(A) M. urGLnrd ' (B) S. &llevss
(C) S. Quemia (D) K. prgr

O _ 41 GTBA14
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132. Thc programme Sarva Shiksha Abhiyan is aimed at
(A)  providing free food for the poor people
ﬁ | providing education for children
(C) providing financial assistance to unemployed

(D) providing free medical aid to the poor

‘gireu Hléas 2 Qe eram S sSlen CHT&EELTaIG)
(A) g bésEsE s arauaisEh S

B) AprirsEpssren sl aupmIEGD SIiL LD

(©) CamowupCormés Bl 2 seil.aipri@b S b

D) TOWRSEEEE Qoas HSgIe 256l cuphiGD UL 1b

133. Which one of the following is known as the world’s eternal city?

(A) Athens (B) Berlin

(C) Cairo W Rome

Spaam_auphlé abs gemn 2 wdler HlaauGupem i HarL e Si@&EEILIHEDE?
A)  gCgerev (B) Guedlem

(C) QauCpm (D) Gymb

134. The state that has literacy rate lower than the national average is
(A) West Bengal (B) Maharastra
‘p Andhra Pradesh (D) Karnataka

Calw arrefl sdclufle) aissms el goparar soaiiuiblel eligb o arar omblend
(A) Cup@E eurtismerd (B) wargnégigym

(C) <=y GpGgsd D) sipILST

GTBA1l4 42



135. Find the missed figure in the sequence

D W&

(2) (3) €)) (5)

I

\x-_._,,_/

N

\\mLL///

A
AN
UL

=T TS

AN s o [
(Ch t ] (D) t ]
N\ N

AT
{17

Dads . &
U/ 4V R i
(1) : | i

NI

(A)

\

/

~
UL/

N
© j ® |
/
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136. Arrange the given words in a meaningful sequence :

L Honey 2.  Flower 3. Bee 4. Wax
A 1,342 B) 2,1,43
w 2,3 1,4 (D) 4,38,21

| BDESENTL UTTHEDSSEMET, 1SS (LPETET aufilameude GBI

1. Caetr 2o g 3. e 4. Gouwe
A 1,342 ‘ B 2,1,4,3
© 2314 D) 4,321

137. 30 percent of a number is 15 less than 3/5% of that number. What is the number?

(A) 48 : B) 52

y 50 | @) 70

@ eramanticy 30 56ig Cs cramanflan pBHHlD ppanm wLkias el 15 Gamney erefld oibhs erem
@A) 48 ® 52
(C) 50 (D) 70

138. When a number is divided by 13, the remainder is 11. When the same number is divided by

17, the remainder is 9. Then the number is

(A) 339 : (B) 369

y 349 ' | D) 359

P eramanmang 13-2u6 aigssliu@b Cung B8 11-25 sm@ns). iCs aram 17-2p6 cuGas L@
Gurgl 58 9-g5 5@8DG!. ibs ereim

A) 339 : : ‘ (B) 369

(C) 349 (D) 359
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139. The following table gives the life time of 500 CFL lamps :

Life time (months) 9 10 | 11 12 13 | 14 | More than 14 | Total

[l

Number of lamps 26 | 71 | 82 | 102 | 89 | 77 53 - - 500

A bulb is selected at random. The probability that the life time of the selected bulb is atmost
11 months is given by

82 179
A - ‘ﬂ )
&) 500 500
97 268
C P Dy =22
© 500 ) 500

500 flp @lped eflenggsaflan eurppmer afleuntd £CLp srLILL () dTares :

QuUMPBTET (Lorghigetla) 9 10 | 11 12 13 | 14 [ 14-goil. oflsb | Qurgsid

oflans @saflen cramenflésns | 26 | 71 | 82 | 102 | 89 | 77 53 500

Caiib@sHSHLILLL @0 GYe elaadlar eaumporer SFsulsn 11 OTSEIGEHESE  LOST06

Bouugparer flspssey
82 179
(A) 00 (B) 50
97 268
(©) 500 (D) 500

140. If 7 spiders make 7 webs in 7 days, then 1 spider will make 1 web in how many days?
Aa 1 B) 7/2

@f 7 D) 49

7 Sapdladr, 7 smBamer 7 prisefld Qaiigmed 1 Awpd 1 gl qemen ersgean Bl sefld Qewiuyn?
A 1 B) 72
© 7 (D) 49
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141. Identify the next figure :

A | e | | =
(1) (2) (3) (4) (5) (6)
(A) Qg (B) N/
| < PN
aflensuder 1Bés UL samBidly. :
s | 2| | = | 2
(1) (2) (3) (4) (5) (6)
w | ¥ ® | @
(&) w D) %
46
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142. Malini deposited Rs. 7,000/- with a finance company for 3 years at an interest of 15% per

annum. What is the compound interest and the amount that Malini will get after 3 years?

(A)
(B)
(C)
D)

Compound interest — Rs. 3,246, amount — Rs
Compound interest — Rs. 3,646, amount — Rs
Compound interest — Rs. 6,436, amount — Rs

Compound interest — Rs. 4,636, amount — Rs

. 13,246
. 10,646
. 16,046
. 14,636

em Hd ewwsdd, wrdal gargng 15% eam oissdd, 3 amr@aEsss @. 7,000/~ wsdE
Qewigmiv. sl @ e g enpudler, 3 HYamBaErs@l Wng wrdlafl unb el ks dsreasyn Crsss

Qzrensulibd wWreneu?

A)

sal_(Heuliy — ep. 3,246, Qerens — gp. 13,246

M sal_(Deullg — ¢5. 3,646, Agnews — 5.10,646

(©)
D)

sl Haully — @5, 6,436, Qsmens — . 16,046
gal_(Heully — ¢m. 4,636, Qarans — o5.14,636

143. The average salary of all workers in the factory Rs. 60. The average salary of 12 officers is

Rs. 400. The average salary of rest is Rs. 56. Find the total no of workers in the factory

(A)

*

(&

(D)

1116
1032
1212
1132

o Asmilpererauie o drer Gamfleorearntsaflen el b @m. 60. e fsriser 12 Cuflen

grrsdl earfwib ep. 400. Bsaperar Asmfemeriaafiear symafl cadlunbd @. 56 erafled Gamfihsmameauid

2_arer Qs Asmflererisafler erareiléens e

(A)
(B)
(©)
(D)

1116
1032
1212
1132 |
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144. Match the following :

List I List 11
(a) Deputy Chairman of the Rajya Sabha 8 Appointed by the President
(b) Speaker of the Lok Sabha 2 Appointed by the Lok Sabha

(¢) Chairman of Public Accounts Committee 3. Elected by the Lok Sabha

(d) Chief Election Commissioner 4. Elected by the Rajya Sabha

(a) (b) (© (d)

A) 1 3 2 1
B 2 3 4 1
© 3 2 1 4
D) 1 3 2 4
QurmEgs :
it iguied I uiguied IT
(8) wrHlorsamals Fima@mTSSMEVaIT i spamglugluimed Flwioand
Cevwiu@dprr
(b) wasaTeneu FUTBTWSHT - 2. D&SETEEUUITE) [HIULILDETLD
Ceuwuu®dprr
() Cung sawég Gpeler semeauir 3. LD &G ETEN 6L LI TED
' CarbllsMaa i G prT
(d) eww soaamw Csoisd e 4. Wl bIS6TenaUILITE:
Cop@sH&EaEILHSE DT
() (b) (© (d
A) 4 3 2 1
B) 2 3 4 1
<€ 3 2 1 4
D) 1 3 2 4
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145.

146.

Who said that, “Prime Minister is the captain of the ship of the State?”

w Munro

(B) Ramsay Muir
(C) Jennings
(D). H.J. Laski

“Qislo Slenw&si & crendlemm sluelen Caliar ey sadluieui wri?
(A)  wewGym

B) oG gprir

(C) Gmenafiniey

(D) H.J. emevdl

By which of the following articles, the procedure for the amendment of the Indian

Constitution is given?
(A)  Article 230
(B)  Article 320
(C) Article 358

M Article 368

&Cp Qer@ssuulGerar QS Srflueamoliiy 2 plyseies b o miiSled ,gmé]u_lmmmuug.
Hmssepon GHLEL LU Qerarg?

(A)  2.muiy 230

B) =2muiy320

(C) 2muy358

(D)  =muiy 368

49 GTBA14
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147. Consider the following statements ;
Assertion (A) : Indiais a Republican Polity.

Reason (R) : India shall have no hereditary ruler and the people shall elect their
Government,

Now select your answer according to the coding scheme given below.
ﬁ) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(©)  (A)is true, but (R) is false
(D)-  (A) is false, but (R) is true

SpsamL aursaltisaneT seuaf

gapm  (A) D @sdur e Gl wrs %L'_élu_smmt.;lq (penm.
smyeerd (R) : @pdlurede L el HENEEnIDIIETLED LOESET SLD cgirfém& gmoraGe Csmbg)
GT(RLLITTSET.

ECip Aar@astiulBerer @hluGemer Qaran® sflwurear efamw Ogfa| Qaiis.

&) (A) wigid (R) @yeir@ib &, Glogiid (R) eranis) (A) efipe sflwen edarésts
B) (A wpmb (R) @ren®ib &, Gogib (R) ararug (A) el sfwmen eflaiinda
©) (A &, ammed (R) seum)

D)  (A) saumy, e (R) &

148. The Chairman of Sarkaria Commission was
ﬁ Ranjit Singh Sarkaria
(B) Rajiv Singh Sarkaria
(C) Sivaraman Sarkaria
(D) Ramesh Singh Sarkaria

SMSSTHWT G(pedlen Senaveuit
A)  @uepés Hm srssrium
B) @ommrea Hi srssrfur
(C)  Seurrioes srdEsmilwm

(D) @Gy &l srgsmum
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149.

150.

Who was the speaker of Eleventh Lok Sabha?

(A)
(B)

v

(D)

Bal Ram Jakhar
Shivraj Patil
P.A. Sangma

Somnath Chatterjee

LS Canmproug) WEEeTaneUUIlET FLIMBIWISHT WimT?

(A)
(B)
(©)

(D)

LIQTTLD EM&ST
Aeugmed LG
19l.61. ERIDT

Gembpns &mL_gl

Who appoints the Advocate General for the State?

(A)
(B)
V2

(D)

President
Prime Minister
Grovernor

Chief Justice of Supreme Court

wrlosan o aGs Cnemame Hluiwand CeliLaul wmi?

@
(B)
(&)

(D)

GWTs SEwaulT
G am@é&r’r
@B

o & fSloannsHen samaenn HLS
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151. Mateh List I with List I1 and select your answer using the codes given below in the lists.

(@)
(b)
(c)
(d)

(A)
®)
©)

v

List1
Lala Lajpat Rai
Bhagat Singh
Surya Sen

Bhagwaticharan Vohra

(a) (b) (c)
2 1 4
3 4 1
2 4 1
4 3 i

(d)

- W N W

List IT
The Philosophy of the Bomb
Chittagong Armoury Raid
Assassination of Saunders

Extremist Nationalist

ulgwe - Lear ulgue II-geer Qurmss Car@asiiul erer GhluiHamears Caram® sfwrsd

Qum(m 555,
uliquien I

(a) orereguUATTL
(b) uwssSn
(0 @fwur Ceen
(d) useudsyemr gur

(a) (b) (c)
A 2 1 4
B) 3 4 1
e 2 4 1
D) 4 3 2

GTBA14

(d)

= W N o

uligwied IT
Qaig@e( sogiaib
AL L sl 21156 AL_E STEGSD
greLyen B&mrency

Sallreurg Caflweurd)

52 O
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152.  Match List I with List IT and select the correct answer using the codes given below

(a)
(b)
(¢
(d)

v
(B)
(©)

D)

List I
Beek
Archibold
Rahmat Ali

Pakistan Resolution

(a) ® - ©

2 3 4
3 1 2
1 4 3
4 2 il

(d)

o

List IT
Lahore Congress
Mohammedans Defence Association
Principal, Aligarh College

Coining the word Pakistan

aiflans [-Qd e draraupap aufles II-2 Lar Qurpssis. G AsrRasiiul Gerer AaneEndemnbs

2 m&d dlenenwis Qsifley Qaus.

(a)
(b)
(c)

(d)

(A)

(B)
(©)
(D)

aufleng I
Qus
S TELTDL
Grsing =6

undlevsmen Sromend

() (b) (©
2. 3 4
3 1 2
1 4 3
4 2 1

aufleng 11
QM&a i OB T(H
W&WEWT SHETUL|E FRISLD
APFEOULT, edlamiT gyl

urdlavgren erann QereaerEstd

53  GTBA14
[Turn over



153. Which of the following statements about Mangal Pandey are correct?
L He refused to use the greased catridge.
II. He was a Sepoy in the 19t native infantry stationed at Berhampur.
III. He belonged to the regiment of 34 N.I at Barrackpore.

IV. He was not punished by the British.

(A) TandlII (B) IIandIV

(C) Il andIII y I and III

Qe meiarelhmier wiser LraTGL @hlss sflurarms gl Gaw.

ok o Qamnupliy slefw giiursdlew LTRSS LOISSTT.

I1. Quiranibyyflé ﬁgg,g,uu L g 19 epeus GQfleneu smiibg SLLm.
I, upsufelmbs 34 NI ue 9fiemeu sribsei.

IV.  udCawpe semgssiiuelaamea.

Aa) lwpgopll B) IIwpybdlV -
(© I wpmo Il (D) I woHmb III

154. Surdas was the disciple of
(A) Madhavacharya A Vallabacharya

(C) Namadev (D) Eknath

GTSTE0 WITHE@LIL FLIT
(A) Lnrrre_r,csurre';&rrrﬂﬁ_lr'r (B) eusdaurdgmilum

(©) proGsar D) aépis
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~1556. Who was the Prime Minister when for the first time No-confidence motion was moved in the
Indian Parliament?

: A Jawaharlal Nehru

, (B) Indira Gandhi
(C)  Morarji Desai

(D) Lal Bahadur Shastri

podsmslanr Storand apger wpgors @bsu prm@sndangda Qanar® aubsaunips Frsw
{EDLDFSFTTE @) (HBSHEu T WimT?

(A) meusitane Crm
| ®) @S snpd

(C) Qunprired Coemis
(D)  ereLsgT smenS

156. The Chief offensive Weapon of the Vedic period

(A) Sword .
(B) Axes
(C) Spear

i w Bow and Arrow

Cous sresElcd LwaLBSsULLL WEHU STEGLD SHUSD
(A)  eumer
(B)  GarLofl

i
_i ©) g
| D) &) HpID Siby

! O 55 GTBA14
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157. Consider the following pairs.

Iron ore ciépo‘sits State
I Bababudan Hills - I{arnataka
I1. Badampahar -  Goa
III.  Dalli Rajhara - Orissa
IV. Kundem-Surla - —  Chhattisgarh

Which of the pair given above is/are correct?

ﬂ I only

(B) TIandII
(C) IMTandIII
(D) ITandIV

Hemeu(md @eamsener SH(Hosle GlEres.

E)(HOUSSTS Lig.QUSHeT wrbletb
L LITLIL|L_@BT LDGNGVEETT - EMEILS&T
I1. UIMSLDLISITT —  CGareur
III. el prsgasgrm - gfler
IV. @& b-srer - slledvsi

Cuh@Hu L Genarrasaflcy erg) &i7?
@A) I o

B) I wombdII

(C) 1T wpmd I

D) IMwopmn IV
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158. ‘Match the following states with their size of population (201 1).

(a) Manipur X, 29,64,007
(b) Meghalaya 2: 19,80,602
(¢) Mizoram 3. L 27 25766
(d) Nagaland 4. 10,91,014

(a) (b) (c) (d)

w 2 4 1 3
@) 1 -2 3 4
© 4 3 2 1
D) 2 1 4 3

Gemausib wiblaniamer wasatsramaCur ui@ps (2011).

(a) el 1. 29,64,007
(b) Gusmeowm v 19,80,602
() BGemgd 3. | 217,21,756
(d) preTOTHS 4. 10,91,014

@ ® © @

(A) 2 4 1 3
B 1 2 3 4
@ 4 3 2 1
@™ 2 w1 4 3
O 57 GTBA1l14
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159. Match the surface area with their ocean.

. (a) Atlantic Ocean il 165,000,000 km?
(b) Indian Ocean | 2. 82,000,000 km?2
(¢) Pacific Ocean 3. 73,000,000 km?
(d) Arctic Ocean 4. 14,090,000 km?

@ ® © @

(A) 3 i 2 4
(Bl 2 4 3
@€ 4 3 2 1

wz 3 g I8

sLablen umlueTeney 2igHE M CLrmilaesier Qumes)s.

(@) o @narigs QUHRSLED 1. 165,000,000 km?

b))  @pHuc QuaiieLd 2. 82,000,000 km?

(© udls Qumprisdo 3. 73,000,000 km?

@ yibns QuEpksLd 4. 14,090,000 km? I

(a) (b) (c) (d)

@ 3 1 2 4
@) 1 2 4 3
© 4 3 2 I
D) 2 3 1 4

GTBA14 | 58 - O




160.

Match the following :

(a)

(b)

(c)

(d)

Polydactyly 1. Y linked trait

o

Color blindness autosomal recessive trait
PKU 3. Sex linked recessive trait

Hairy Pinna 4. autosomal dominant trait

(a) (b) (c) (d)

(B 1 2 g 4
@ 2 3 4 1
D) 3 1 2 4
Qurmss!s :
(a) umellimsenL edl 1.  “Y enips @eorid
(b) Hos GHBssammD 2. = CLrGamoe ¢Hiki@@enbd
(c) ﬂ@gq 3.  ume Ymanss e(biE@emnid
(d) srdlo iy ez 4. < CLrCembod @i @eid
(a) (b) (©) (d)
(A) 4 3 2 1
B) 1 2 3 4
() 2 3 4 1
By 3 L 2 4
59
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161. Match the List I with List IT answer using the codes given below :

(a)
(b)
(©
(d)

(B)
©)
D)

List I

Occupancy tenants
Tenants-at-will
Sub-Tenants

Intermediaries

(a) (b) (c) ()

2 3 1 4
1 2 3 4
4 3 2 1
3 4 - 2 X

List IT

Extremely weak
Permanent and hereditary
Teﬁporary Tenants

Absentee landlords

aflams I g auflens II 2. ear QumESSH Epsear G @g,rr@&tﬁ]:aﬁ]@fj@m Qurmasioner eflanL_aniLi

Qar@ésiuc L @il uweau(iss GRS ayb.

(a)
(b)
©
@

@A)
(®)
(©)
(D)

GTBA14

auflens I

Hle &ATBiy GEs@ssTTT
&Sl(BUL ($SSSSTTIT

2 LGS GEs@esTiT

QerLSgnETaEeT

(a) (b) (©) (d)

2 3 1 4
1 2 3 4
4 3 2 1
3 4 2 1

60

euiflens 11

SIS LIeeT LD TesTau T

BlybsTLomer mg')[:mfnl aurflafents Qumbmeur
SDETONG HSSHNSSTTIT

wemLps Hletndyy



162.

163.

164.

A’s per the census 2011, India's Population was 1.21 billion, which is percent
of the world's population.

(A)  18.5% A 17.5%

(C) 16.5% ' 15 5%.

2011 was_dsnms sansCa@ ey @hHwuneilar waser Ggrens 1.21 Gaadlwerm@Eh. Gg 2 o0&

s Qgransulien &&6IBHLOMNELD.
(A) 18.5% ' B) 17.5%
(C) 16.5% , (D) 15.5%

According to 2013-14 budget of India, what is the percentage of current revenue expenditure
meant for payment of interest?

(A) 16 percent A 26 percent
(C) 28 percent (D) 32 percent .

@idwretlen 2013-14 eupey-Gaaey S sHag, Grg,g,mar eflaar® pLUy eumeumi Geawaie,

aul g s QegudaBElng?
(A) 16 wssr® (B) 26 flapssr(
(C) 28 ellupsan® (D) 32 ellpasn(®

Which district in Tamil Nadu secures first rank in percapita Income in 2009-10?
(A) Chennai

(B) Tiruvallore

(C) Coimbatore

W Kanniyakumari

sUpHT_ige 2009-106 safllpui augporeagdla el sdd Aupm wreulL b erg?
(A) Qeerenen

B)  Hmeuemeani

(C) Gamuapsgni

D)  semeflwimELof

61 GTBA14 -
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165. Classify the following elements as Lanthanides and Actinides

(B)

(C)

D)

Samarium (Sm)
Uranium (U)
Plutonium (Pu)

Dysprosium (Dy)

Lanthanides
Actinides
Lanthanides

Actinides

Lanthanides

Actinides

Lanthanides

Actinides

Samarium, Dysprosium

Uranium, Plutonium

Samarium, Uranium:

Plutonium, Dysprosium

Dysprosium, Plutonium

Uranium, Samarium

Samarium, Plutonium

Uranium, Dysprosium

&Gy Qar®ssliuHérer gaflwhisamer Cabsamer(n, &g enarrs Gflsg <ipls.

1.

19

e

(A)

@)

(©)

(D)

GTBA14

&Gloflwib
wiGresfluib
HiepGLreflwib
gL Crmev D
Geaubaane(p
2,513 et (b)
Caupgene(
Sbilg enen(H
Cambgeanar(p

2 &lg.ena(h
Gapsene(p

24&lq mar(h

#CwMwib, gevyCrrevwid

w,Craflb, 1@EpGLreaflimn

sCoflwib, wCreflwibd
H@Gi_rrsoﬂub. g6 Crmeniwitb

igavuyCrmevwib, LEnCLraflub
wGreaflw, sGofwbd

sCMwb, YErCLralwibd
wCraflwi, 1evyCrrenwid
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166.

Match the list of radio isotopes with its uses given below and choose the correct answer

using the below given codes.

(a)
(b)
(c)

(d)

()
v
(©)
)

Cobalt 60

Ag‘[ﬂ.‘l

Hglﬂ?

paz

(a) (b)
o 4
4 3
1 2
1 3

1
2.
3,
4.
(d)
3
1
4
4

Fertilizer
To photograph brain tumour
Blood cancer

Sterilisation

5Cp Qar@ssiul@earer CryCwr gCarCmiysar Llgwem Sigar LwudsECar® QAuTEHdss.

sflwner edentenws ECip Gan@ésiiu Herer GHluiGsmer Qana® Asfe Ga.

(a)

(b)

(c)

(d)

(A)
(B)
(©)
(D)

Gamumal. 60

Ag191

Hg197

Pﬁe

(a) (b)
2 4
4 3
1 2
1 3

(c)

Sl

| &%)

15
2.
3.
4,
(d)
3
1
4
4
63

2 _[ib
ppemar sl iganil UL b g 56
Qrés uppCpmi

miero Emisl ey

GTBA14
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167. Consider the followiﬁg statements and select the correct answer :
Assertion (A) : Sclerenchyma cells provide mechanical support to the plants.
Reason (R) . Sclerenchyma cells have thin cell walls.
(A) Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are individually true but (R) is not a correct explanation of (A)
M (A) is true but (R) is false
(D) (A) is false but (R) 1s true

Spssraibd aursunismer srsH0 Asrar® sflwrer el ews CaibsEH :

aanmmi (A) : evdlenperension Geaser sTourEEEhsE 2 ndls saramibuilman ojalESanmer.
smyanrd (R) : avdleryenensior Qedsar Quemebwrer Qewsaursmer GubpieTerar.

Q) (A wpmb R) @ran@id s, Cuoaib (R) aern g (A)elpe sfwrer eflarésid “

(B) (A wppd (R) @rempud &ifl. Cogb (R) eramuig (A)ellpe sflwuner eflarésinae

) (A) &M syama (R) saum

D) (A saugy ame (R) &f

168. The nitrogenous bases found both in DNA and RNA
I - Adenine and Uracil
II — Thymine and Guanine
I1IT — Uracil and Thymine
IV — Adenine, Guanine and Cytosine
A) I I

@) I
(€) I @ v

g.eremar (DNA) woppb =yierene. (RNA) ofu @ragaid sremiu@Gaean enpL_Gyrelee

SEITIIRISETITE 60T

I — sigenaren H@ID wyFréld

1T — ensillen HID Geurenenan

III — wgréled wHmib engidlen

IV — syganane, Geunenaen hmid enal_CLmélen

@a 1 . ® 1
() I D) 1V

— GTBAl4 64 B =



169. The DSC prize for South Asian Literature was given to
(A)  Songs of Blood and Sword
d Chronicles of Corpse Bearer
(C) Nine Lives
(D) You can sell

Qsparéw Qesdlwid QgL iuimrer DSC ufiens QunHn Breued
(A)  ewmmiied <l Glem <iesr GeUTTL

B) dyrafldsaen S0 smiuen Guigr

(C) enmar Sleuan

(D)  uy Caar Caed

170. INDRA — is the joint Naval exercise between the following countries
(A) India and America

(B) India and Japan

W India and Russia

(D) India and Australia

“INDRA” — 8Gip s pr@s@pédlent Guwmear sal () sLpUeL ulip&ent GM&@o
(A)  @pHwr wpod oG ofssT

(B) @pSHum opmid griimen

(©)  @pSunpp resun

D) @pHur whmib evSCreilum

171.  Which among the following has the world’s largest reserves of Uranium?
(A)  USA ' (B) Canada
(C)  Russian Federation y Australia

Sipsar_aunhld abs Briigd 2 wfCatu 2ifls ey wWCreflunb o creng)?
(A) USA : (B) sa_T
(C) peow sl Lol D) =edCradlum

0 65 ' GTBA14
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172.  Which of the following is not correctly Matched?

(A)

B)

v

(D)

Dances States

Bhangra — Punjab
Kuchipudi - Andhra Pradesh
Yakshagana  — Gujarat

Odissi " —  Odisha

SI&E@TUDMIET Seupns QUTmssILL HidTag) o) ?

(A)
(B)
(€)

D)

. BLGIBISET wrblemhiger
LI £ LI@B&TLI
(GLEIEETE - <pduhrGssn
WSS TETLD | - GRITSE
e - guen

173. UN flag is designed with the leaves of which of the following tree?

o
®)
©
(D)

_ Olive

Willo
Apple

Pine

&-5. senuillen Aamquiler @LbQuppiETar @enewsailen UL s aThg Wrsms Cabsemenl?

(A)
(B)
(©)
(D)

GTBA14

=4afley
afleCeurr
<piler

GG

66



174. Telecommunication Consultant India Ltd. was set up in the year

(A) 1975 (B) 1976

(©) 1977 v 1978

@rslus Garaas @Ig;m_r'r:_;(‘é&msu floieuand abs e GhuBSSULICLSI?
(A) 1975 B) 1976
(© 1977 | D) 1978

175. The world’s first intelligent ‘Knife’ developed can defect
(A)  Genetic disorders (B) Congenital diseases
y Cancer (D) None of the above

2 @dlen (o5& ‘Hiamaniio)s 655 e g cTansd SIS salqwig)?
- (A)  wyys @epun(haer (B) dpeils genpurBiser
(©) ynpGCrmi (D) Cuwpsarr. g&)dldema

176. The speed of the world’s fastest super computer is
33.88 petaflops - (B) 33‘87_petaﬂops
y 33.86 petaflops (D) 33.83 petaflops

> avélerm HFCaus Gobu’ L sextlafliuflen Gatsd
(A)  33.88 150 LmlenmLich "(B) 33.87 SLrSlemia
(C)  33.86 1SUL_moiammiia (D) 33.83 18 Lmlianmiie

177. The satellite which was placed in orbit by PSLV-C22 on 27 July 2013 is
vﬁf IRNSS - 1A (B) IRNSS-—1B
() IRNSS-1S (D) IRNSS -2A

PSLV-C22 -6 spmes U unesuie 2 gOama 2013 siany Qsgugsiiuc L GewneassGaner
(A) IRNSS-1A - (B) IRNSS-1B -
(C) IRNSS-18 (D) IRNSS -2A

O _ 67 ' GTBA14
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178. India’s first centre to monitor climate change was opened recently at
(A) . New Delhi A Chennai
(C)  Jaipur (D) Bengaluru

s uGleuliu @émeu LIHDEMS SETSTaEED e ewwibd sbusdd @nSurald’ @yrbidasiu L

@b
(A ys Haed (B) Qsarener
(C©) Qguy . ; . (D)  Quirkisensm

179. How many straight lines are there in the figure below?

(€ 16

(A) 10 ﬁ)’ 12
(D) 8

Epsngnib UL SH o drer CrrCarRseian eramanflsans

@A 10 (B) 12
(C) 16 : D) 8
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180.

181.

182.

Find the missing number in the diagram.
4 |5 10| 8 12| 8
20 9 - 80 18 ? 20
@ 25 (B) 30 :
y 96 _ (D) none of these
Getau(pid LILSdled el (L ereir erg)?
4 ) 10 8 12 8
20 9 80 18 2 20
(A 25 B) 30
(C) 96 D) gande agejbldamea
The sum of three prime number is 101. The difference of two of them is 24. What are the
numbers?
(A) 5,59,37 ' B) 41,53,7
(@ .37 53 y 3, 61, 37
ppaml LsT eramsatlen am@sd 101. eupile @ran® aamsensE QUL llsdlumsd 24 aeafla
Sjeublelamaer wreneu ? _
(A) 5,59, 37 | B) 41,53, 7
(C) ST 53 (DY 3561 37
A started from a place. After walking for a kilometer, in a direction, he turns to the left,

then walking for a half kilometer, he again turns to the left.,Now he is going eastwards. In
what direction did he originally started?

v West (B) East

() North , (D) South

A eramuait @il S8\ miHs am Smsmu Coréd e HCuT 8L LT pLBs Y9G @Liussd Hpnd
1/2 &Cem 8Lt pLpal WpE Bar@in @Liussd Hnwd pLbg Geodpmt. sHCLNE e SlipseE
fleng Crnadl pLbg Qaammnad, Asm_sssHd el ans Hesmu Crrédl pLsss Ggm_mslemm?

A) Cupe - ®B) dpsg

©€) aLsg _ D) GzpE
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183. The circle-graph given here shows the spendings of a country on various sports during a

particular year. Study the graph and answer the question.

Cricket
81°

Basket Ball
50°

What percent of the total spendings is spent on Tennis?

A' 12

© 25% (D) 45%

% B) 221%

ral=
ta

Qar@ésulL el euenpuLTeNg @ Briger @HUELL  gergoger  woGeumn
afememwim’_iy haren Qeavailasmss s Héng. Snisarm. aumpuLsmsll UTiss CaaralseE LS
Q&m(H.

Sai_ L1 L)
an®

arsseman #saisb Conss swalasda QLaraflevcssns Qewel NG Ene?
@A) 123% B) 221%

©) 25% (D) 45%
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184.

The sides of a triangle are in the ratio and its perimeter is 104 cm. The length of

1o | =
s |

1
=
the longest side is

(A) bH2cm A 48 em

(@) 32em (D) 26cm

@ pECaramsslear UESBISET :% erep efldlsgsled 2 arenar. gen &mmere| 104 cm. syger

bo | =

o=

BETLONaT L&&&EIEN 26ey erene?
(A) bH2cm (B) 48 cm
(C) 32cm D) 26em

185. If A’s salary is 20% less than B’s salary, by how much percent is B's salary more than A’s?

(A)  24% v 2%

(C) 20% D) 22%

A-en auonenid B-wder aigpionangens efl 20% @e@peuns edrers) arefléd B-wler aumiorand A-uler
QUBLOTATSEMS el eTeucueTay FF65S5D HSELTS 2 drarg?

A 24% B) 25%

(C) 20% _ D) 22%

186. The volume of a cube 15 125 ecm?. The surface area of the cube is
(A) 625 cm? (B) 125 cm?
VO 150cm? (D) 100 cm?

Q(h saT s&ITSSlen ser 2jare| 125 ser G&.15. arafld) @gan LpliLFliLaTe] eTeuaieTa|?
(A) 625 &5Qs.1b. (B) 135 5.Qs.1b.
(€) 150 £Q&.15. (D) 100 &.Q&.15.

187. If50% of (x—y) = 30% of (x+ y) then what percent of x is y?

A’) 25% (B) 50%

(C) 75% (D) 100%

(x—y) -6 50% = (x + y) -1 30% erafleh x-6b y-6it sHIHID 6Tevmean?
(A) 26% _ (B) 50%
©) T75% (D) 100%
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188. The least number which when increased by 1 is divisible by 12, 18, 24, 32 is
(A) 278 ‘ (B) 288
287 D) 279

R CTETEIL T RETenDS sl L =g 12, 18, 24, 32-g,d Bsllandl augLBfps). siEsma BESm

GTEO0T
(A) 278 (B) 288
(©) 287 ‘ (D) 279

189. The missing term in the series
9, 225, 16, 196, 25, 169, 7 |, 144

Y

@A 81 B 121
y 36 ' (D) 49

9, 225, 16, 196, 25, 169, _? | 144 erenm Qzmfé eAGuL_L eraior

(A 81 B) 121
(C) 36 . (D) 49

190. Find xin 4% x64* =16** .
(A) 1 (B)

5
© 4 W 2
47 x64%% =16 arafled, x —@er iy
A 1 | B) 5

b2

) 4 (D)

191. At simple interest Rs. 1,000 becomes Rs. 1,150 in 3 years. If the interest rate is increased by
3% then the total amount is '

(A) 1,400 (B) 1,300

©) 1,140 y 1,240

R0 GIUELL saflla’y aissdd 3 e m. 1,000 eag . 1,150 opdlngl. 3% a@swns
el g e @@nden, HCurensw Qurss iy

(A) 1,400 (B) 1,300

(C) 1,140 M) 1,240
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192

193.

194.

If 18% of the total number of oranges in a basket is 36. Then the total number of oranges is
(A) 100 (B) 150

y)' - 200 (D) 300

@ Sl Wld 2drar Qorgs oress Lphisaid 18% g 36 cald Cwrssuperer pTEHs
uprisaflen ererentldens

(A) 100 (B) 150

(© 200 (D) 300

The ratio of the prices of two cows was 23 : 16. Two years later the price of the first cow rises
by Rs. 477 and that of the second by 10% and the ratio of their prices became 20 :11. Find
the original prices

Rs. 1,219, Rs. 848
(B) Rs. 1,218, Rs. 848
(C)  Rs. 1,210, Rs. 850
(D) Rs. 1,219, Rs. 840

@rem(® wr@safer alloa alfgorang 23 : 16. Gran® @ OsE55E NG, (s riiger allae
epumis 477-248 2 Wihsg LHmIb @y rag wi_ger eloe 10% e wibsg. sHCUTE allamauiar
efldsomeng 20 111 @b, 2 @i efleneniis Hrems.

4) epumi 1,219, epumis 848

(B)  epumis 1,218, egpumis 848

(C)  epumi 1,210, erumis 850

D)  epumi 1,219, epumis 840

A ladder of 25 ft length reaches a window which is 24 ft above the ground level on one side
of the street. Keeping its foot at the same point the ladder is turned the other side of the
street and now reaches a window of 7 ft high. Then the width of the street

A) 30

B) 32
© 29 y 31

@@ Osmeld Bmssiu Perer 25 g Soraperer gafl sl GEldlhhs 24 g 2 wipperer
sanaas QsTHEDs. Sige@w LIHHTLD Sjcugamilew sonm 2456s5melen LM LISESS @) GTeT
gananane 7 i 2 wysdle Qer®dns erafléd 215065 melien 215D

A 30 B) 32

© 29 D) 31
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195. Which of the following statements about Lok Pal is/are wrong?

@)

(i1)

(111)

@av)
(A)
(B)
(©)

p

Lok pal will have the power to investigate an Administrative Act done by a Minister

or Secretary
Lok Pal can inquire into a complaint of maladministration

Action taken in a matter affecting the dealing with Government of India and any

foreign government

Grant of honours and awards
@), av)

(11), (ii1)

@), (1)

(111), (iv)

Carsure Gilés smassisaia GememeaamehmeT Sepraree Grgj/c;rsmm‘?

o)

(i1)

(ii1)

(iv)
A)
(B)
(©)
D)

GTBA14

R0 WA Sy Cewerenilar fireurs Qewuama alsrramenr Qsiiw ConsLmaise damb

2 gt (h).
Bireunss FTGaH g Aer@ssLiul_Hearer yasreny CamsLird eflerssomi.

@pdu sigsmasd wHnn Qauafpri@ wsremsss ar gHUBD @UUBSHSMS GHSS

el grflgsemid.

wilwres whmib edmgser sialiiLg).
(@), (iv)

(1), (iii)

(1), (i1)

(i11), (iv)
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196. Which one of the following is not related to NGO’s?
(A)  Civil Society Organizations
(B) Citizen Associations

Non-State actors

M Public Corporations

Denau(peaTeDDIET aTHS T eTer.8. 6. SE(EhLe ASTLTL|EL LIS 6D ?
(A)  Glge0DF Feps HIMIGUGTHISET

(B) ®lginésaen shIsRIGET

(C) epas-gryr QaweuUr_LTaTT&HeT

D) Qurgs spsniseT

197. In Indian Constitution the directive principles of state policy were incorporated in Articles

from.

(A)  Art. 40 to Art. 51

ﬁ Art. 36 to Art. 51

(C)  Art. 39 to Art. 51

(D)  Art. 25 to Art. 51

@pdu ssewllen, orfa Qsmamsow afl Qegisid Gpflapopsmar aOS5@IEED

2 MILIL|S6IT

(A) 2. 40 apsd 2. 51 cueny
(B) =36 s 2. 51 eueny
(C) =39 psa 2. 51 cuany

(D) 2. 25 s 2. 51 eueny
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198. Consider the following statements and select the correct answer using the code.

L.

IL.

(A)

(B)

v

D)

IGOANPS covers only BPL population and persons above 65 years and provides
Rs. 200 month

In India, avoidance of poverty is reached when a person has access to 2100 calories

per person per day in Urban area and 2200 calories in rural areas.

CODE :
I only
IT only
Tand II

Neither I nor 1L

spsar. ansflubismer soellss Seupdle sflwrer elamiwlomar @EHu QLear Qarar(

QsfEgH&EsLD.

L

11

(A)
(B)

(©)

(D)

GTBA14

IGOANPS @sriiyeniwg BPL wés Gsrensuda 65 euuIsTaTaTSEh5EE 5. 200 WwrHh
darmssiu@eusr@ELd

@ndureie eaupeno gelliiy eramug ehs @ walgar 2100 sCarflsear @m BrsErsEsE
pamyngSad wpmib 2200 sCGanflser SymoliyrsSein GrL;@ann@Lb.

@MIuST_ClL_ewr :
I ol @

1T o Hib

I whmo IT

I sjoag II-b o
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199. Which among the following Committees was responsible for the incorporation of
fundamental duties in the constitution?

(A)  Wanchoo Committee
(B) Sachar Committee

W Swaran Singh Committee

(D) Bhagawati Committee

5Cy Qsr@asluLBeter GuWasalid g BiglumLé sLewsmar Qb SiFsmwlid Glameamss

STIETOTS B)(HHSHSI?
A)  eurers @
B) smarT EW

(C)  eveurer flm G
D)  usadEw

200. Arrange the following in descending order

1 Teshil
2 Sub-division
3. Village
4 Pargana
5 BESEE B) 34,21
© 21,34 D 1,2,4,3

Wereupeuareupenp @@ aiflamsuiie peapuub55is

1. sréled

2. glenawrii-1Ghay

3. Slymob |

4. LIfT&ITeorT

A 21,43 B) 3,421
© 2134 M@ 1,2,4,3
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